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TAMIL NADU NATIONAL LAW UNIVERSITY, TIRUCHIRAPPAILILI

B.A. LL.B. (Hons) and B.Com. LL.B. (Hons) Degree Programme

Repeat (Odd-Semester) Examinations, August 2021
(for 2025 Batch)

ENGLISH -1 / BUSINESS ENGLISH -1

Time: 3 ¥4 Hours Maximum Marks: 50

PART — A (5 X 10 =50 Marks)

Answer the following questions: (450 to 500 words)

1.

How important is listening comprehension in developing skills in language
learning and use? Provide the main types and sub-skill used for listening along
with the major barriers to listening. and point out how one can avoid the barriers
for effective listening.

Elaborate the three phases in reading exercise that you have studied, and attempt
an argumentative essay to show how the three phases in reading help the reader to
interact with the text actively in order to make sense of the text, to build
vocabulary, and to gain some background knowledge of the topic mentioned in the
text.

Attempt an EXPOSITORY ESSAY on the concept called “Writing” by referring
to 1fs basic unifs, types, functions, and relationship between language and thought.

Critically discuss Portia’s sense of law and mercy in saving Antonio in
Shakespeare’s The Merchant of Venice along with Atticus Finch’s sense of
compassion and sympathy involved in the legal attempt in acquitiing Tom
Robinson in Harper Lee’s 7o Kill a Mockingbird.

Discuss the situation of the character Joseph K in Kafka’s The Trial for justifying
the novel as minimalist design, dehumanized subject, critique on European legal
system, and ambiguity.
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LEGAL METHODS

Time: 3 ¥ Hours Maximum Marks: 50
PART — A (5 X 10 =50 Marks)

Answer the following questions:

1. Identify and employ rules of interpretation to find out the meaning of the laws and
decide the following cases:

a. Law: 8.3: The willful opening, breaking down, or injuring of any fences
belonging to or in the possession of any other person is a erime, punishable
with | year imprisonment.

Facts: Raymond broke down the fence Pamona had constructed in order to
exercise his legal right to go upon his own lands.

b. Law: S.4: Battery is the commission of any physical contact against another
person without their consent. A person who commits baitery shall be
mmprisoned for a minimum period of 6 months. If battery is accompanied by
the drawing of blood in a public place, imprisonment shall be for a minimum
of 1 year.

Facts: A man X' attempts to harass a woman on the street continuousty. A
bystander intervenes and asks X to stop. X continues his harassment of the
woman at which point the bystander physically trips X. X falls to the ground,
hits his head and bleeds. Is the bystander guilty of battery?

2. For each of the Justices in the Speluncean Explorers Case, answer the following
questions:
a. What were the facts or issues that concerned them most in reaching their
decision?
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b. What do they think their role as a judge demands?

3. Critically analyse the traditional difference between the following and explain
whether any true differences remain between the concepts.
a. Common Law and Civil Law
b. Public Law and Private L.aw

4. Explain the difference between Legislation and Subordinate ILegislation.
How do you think it ties in with Constitutionalism and Separation of Powers?

5. For a case at the High Court of State M, being decided by 5 judges in 2021, the
following precedents and information is available. Decide whether they will be
binding or persuasive, rank them in order of their precedential value and explain
your choices. Please note that you may make reasonable assumptions.

(a) 2020 High Court of State M Judgment of 3 judges on the same issue and
similar facts.

(b} 1967 Supreme Court Judgment of 3 judges on the same issue and similar
facts.

(c) 2019 Supreme Court Judgment of 5 judges on a similar issue but
dissimilar facts.

Further information:
(i) Judgement C distinguishes itself from Judgement B.
(ii) Judgment A follows Judgment B.
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ENGLISH —I / BUSINESS ENGLISH -1

Time: 3 ¥ Hours Maximum Marks: 50
PART — A (5 X 10 =50 Marks)

Answer the following questions: (450 to 500 words)

1. Comment on Shakespeare’s use of humour as a literary device for foregrounding

the legal aspects in the play Merchant of the Venice.

2. Explain the aspects of coherence, accuracy, develop ideas and organize ideas in
the process of writing, and show these elemenis by attempting a short model essay

on the topic “An Effective Writing Skill”.

3. Examine the issue of White/ Black binary represented in the novel To Kill a
Mockingbird. How this racial conflict has been represented by Harper Lee with the

background of American legal system? Evaluate.

4. Critically evaluate Kafka’s character Joseph K in relation to “isolation”™ “absurd”,

“existential quest”, “crime” and “law™.

5. Attempt a Persuasive essay on the topic: “Is it right for the media industry to

promote a certain beauty standard?”

Page i of 1



LEGM-21

Name: [ j

Register No.:
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B.A. LL.B. (Hons) and B.Com. LL.B. (Hons) Degree Programme

Repeat (Odd-Semester) Examinations, August 2021
(for 2025 Batch)

LEGAL METHODS

Time: 3 ¥ Hours Maximum Marks: 50
PART — A (5 X 10 =50 Marks)

Answer the following questions:

1. Critically analyse the relationship between the following with original examples.
a. Process of Legislation and Constitutionalism
b. Aurticle 21 and Substantive and Procedural Law

2. What dees the Case of the Speluncean Explorers by Lon L. Fuller teach you about
Law and Morality? Which judge’s opinion is the most convincing to you? Answer
using appropriate quotations from the case.

3. Identify and employ rules of interpretation to find out the meaning of the laws and
decide the following cases:

a. Law: S5.7: No person shall obstruct.the passage of mail. Persons who
willfully commit such an action will be committed to prison for a period of
1 month.
Facts: A police oflicer arrests a postal employee for murder while the
employee is delivering the mail in a neighbourhood,

b. Law: S.4: Battery is the commission of any physical contact against
another person without their consent. A person who commits battery shall
be imprisoned for a minimum period of 6 months. If battery is
accompanied by the drawing of blood in a public place, imprisonment shall
be for a minimum of 1 year.
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Facts: A doctor performs emergency surgery in the street of a person who
has collapsed because of a blockage in his lungs. The person was
unconscious at the time of the surgery.

What are primary and secondary sources? For the following research questions,
list 3 primary sources and 3 secondary sources each, arrange them in order of

importance and explain your choices.
a. Suicide as a part of the Right to Life under Article 21
b. Absclute Liability and Environmental Harm in India

Explain the following components of judicial decision making with examples:
a. Ratio Decidendi and Obiter Dicta
b. Stare Decisis and Precedent
c. Distinguishing and Overruling Judgments
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TAMIL NADU NATIONAL LAW UNIVERSITY, TIRUCHIRAPPALLI

B.A. LL.B. (Hons) Degree Programme
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POLITICAL SCIENCE —1I (Political Theory and Organizations)

Time: 3 “4Hours Maximum Marks: 50

PART — A (5§ X 10 =50 Marks)

Answer the following queztions. Each Answer should not be less than 400
Words.

1.

“State is neither a handiwork of God, nor is a creation of physical force; it is based
on the will of the people.” — Critically analyse the statement.

*Originally the concept of the Police State prevailed, and the State was regarded as
an instrument of domination. But this concept had to yield place to the new
concept of the Welfare State. This made the State an agency of service and
weakened the sovereignty of State in the internal sphere.”- Analyse the statement.

“That government is the best which doesn’t govern at all” — Critically analyse the
stafement.

“Liberty is an invaluable asset to the individual and has to be defended at all
fimes™- Give an analysis of the means available to the citizens of India in
protecting their liberty and how effectively these were helpful in protecting the
liberty of the citizens of contemporary India.

“The success of democratic government depends upon the degree to which the
public opinion is sound, well developed and effective in controlling the actions
and policies of government.” Taking into consideration the above statement
Estimate the quality of the public opinion that prevails in contemporary India and
give your reasons for the effective/ineffective public opinion that exists in India.
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FINANCIAL ACCOUNTING AND PRACTICAL AUDITING

Time: 3 YaHours Maximum Marks: 50
PART — A (5 X 10 =50 Marks)

Answer the following questions.

1. Record the following transactions in the Journal of Mx. Moon and post them in

the ledger and balance the same.

2021, Jan. 1 Mr. Moon has commenced business with cash,
Rs.25,00,000/- and Machine Rs.15,00,000/-
3 Paid into Bank Rs.15,00,000/-
5 Bought goods for Rs.5,00,000/-
7 Paid travelling charges Rs.15,000/-
10 Sold goods for Rs.6.00,000/-
15 Sold goods to Balan Rs.4,80,000/-
20 Purchased goods from Mr. Sun Rs.8,00,000/-
25 Withdrew cash Rs.20,000/-

2. The following balances are extracted {rom the books of Mr. Red
on 31.12.2020. Prepare final accounts

Particulars Debit Particulars Credit
Rs. Rs.
Stock on 1.1.2020 17,000} Sales 60,000
Manufacturing wages 10,000] Creditors 20,000
Factory rent 2,000] Bills payable 10,000
Factory lighting 3,000f Capital 43,000
Purchase 30,000
Carriage 3,000
Salary 2,000
Office rent 2,000
Printing & stationery 1,000
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Particulars Debit Particulars Credit
Rs. Rs.
Bad debis 1,000
Land 10,000
Buildings 20,000
Plant & machinery 15,000
Furniture 5,000
Discount allowed 2,000
Debtors 5,000
Cash in hand 5,000
1,33,000 1,33,000

Additional Information:

(1) Closing stock was valued at Rs.19,000/-.
(ii) Salary paid in Advance Rs.500/-

3. Following is the Receipts and Payments Account of Red star club for the year

ended 31.12.2018:

Receipts Rs. Payments Rs.

To Balance B/d: By Rent and taxes 8,610

Cash in hand 6,120 | By Salaries 3,400

Cash at bank 8,000 | By Light Charges 420

To Entrance Fees 5,520 | By General Expenses 1.250

To Subscriptions 22,000 | By Sports materials 3.120

To Donations 10,000 | By Office expenses 4.500

To Interest 420 | By Investments 14.400
To Receipts from Entertainments 8§20 | By Balance ¢/d

Cash in hand 6,000

Cash at bank 6,180

52,880 52,880

On 1.1.2018, the club had sports materials worth Rs.30,000/- and furniture Rs.5,800/-

Adjustments:

1. Subscription outstanding Rs.600/- for the year 2017and Rs.700/- for the year

2018

2. Entrance fees and donations to be capitalized
3. Write off depreciation Rs.500/- from furniture and Rs.3,000/- from sports

materials.

Prepare the Balance sheet as on 31.12.2018
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4. A.B and C were partners in a firm sharing profits and losses in the ratio of

3:2:1. Their Balance sheet as on 31.12.2020 was as follows:

Liabilities Rs. Rs. Assets Rs. Rs.
Creditors 26,000 | Bank 2,500
Bills payabie 4,000 | Debtors 15.000
Profit and Loss 6,000 | Stock 25.000
Account Vehicles 8,000
Capitals: A —50,000 Machinery 35,500

B — 30,000 Buildings 50,000
C — 20,000 1,00,000
1,36,000 1,36,000

The firm was dissolved and the assets were realised as follows:

Stock  Rs.28,000/- Debtors Rs.5,800/- Vehicles Rs.3,700/- Machinery
Rs.17,000/- and Buildings Rs.55,000/-.

Creditors were paid at 5% discount. The expenses of dissolution amounted to
Rs.500/-.  Prepare Realisation Account and Partners’ Capital Account and
Bank Account.

. While auditing the accounts of (a) proprietorship business and (b) partnership
business. you have noticed that certain quantity of controlled materials have
been bought without vouchers. Your clients do not want qualified reports. How
would you deal with the situation?
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TAMIL NADU NATIONAL LAW UNIVERSITY, TIRUCHIRAPPALLI
B.Com. LL.B. (Hons) Degree Progcramme
Repeat (Odd-Semester) Examinations, August 2021
(for 2025 Batch)

BUSINESS ORGANISATION AND MANAGEMENT

Time: 3 “Hours Maximum Marks: 50

PART — A (5 X 10 =50 Marks)

Answer the following guestions.
t=]

1. Atui joins as a Regional Sales Head in the export division of a FMCG (fast moving
consumer goods) company. In a departmental meeting, he asks one of his
subordinates, Manik, to take charge of the company’s new office in Dubai. He
allocates the work to him and grants the necessary authority. However, within a
month by seeking regular feedback on the extent of work accomplished from Manik,
Atul realises that Manik is not doing the work as per his expectations. So he takes
away the authority delegated to him and re delegates the work to Prakrit. Due to the
time wasted in this switch over, the work at the Dubai office suffers tremendously and
the company is not able to meet its desired goals. In the context of the above case:

a. Why is Manik supposed to give regular feedback about work to Atul?

b. Can the authority granted to a subordinate be taken back and re-delegated to
another person?

¢. Can Manik be held responsible for not meeting the work-related expectations of
Atul? Give a suitable reason in support of your answer.

d. Differentiate between authority. responsibility and accountability based on origin
and flow.

2. Shan Spices Ltd., are the manufacturer of different food specific spices like Rajmaa
Masala, Cholley Masala, Aaloo Parantha Masala etc. Mr. Raghav, the owner of the
company has created different departments for purchase, production, marketing,
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finance and human resource. Thirty employees working in the organisation. Planning
is of paramount importance to the company as Mr. Raghav believes that effective
planning leads to the achievement of organisational objectives. So in order to make
employees focus on objectives, he issued instructions that during working hours only
official matters will be discussed. He made certain rules and codes of conduct for the
employees to follow, according to which employees are not atlowed to visit and talk
to the employees of other departments except for official work. He emphasized work
performance which resulted in the smooth functioning of the organisation.

a. ldentify and state the type of organisation mentioned in the above para.

b. State one feature of the concept identified in part (a) as mentioned in the above
para.

c. What was the purpose behind the formulation of rules for the employees that
restricted their personal communication with the employees of other
departments?

d. State two values violated by Mr. Raghav.

Gargi Chemicals has many branches throughout the country. The company has
recently adopted the decentralization model. This has given the freedom to the lower-
level managers to take decisions on their own and have faith in their own judgments.
This has really helped the organization in taking the business to new heights. The
employees are handling the projects independently and the experience thus gained can
help them rise in the organization earning them responsible positions in the
management in the future. The organization knows that there is no substitute for
delegation. In the past when the optional policy decision of decentralization was not
adopted even then the company was doing good. The managers knew that through
proper delegation they could leave the routine work on subordinates and focus on
priority areas. This was how the company grew. It was due to delegation that
superior-subordinate relationships got established and there was the clarity of
reporting relationships. The company works on product specialization. We can see
that in the future the managers will have full scope to develop their managerial
talents.

In the above case identify the advantages of decentralization.
a. What advantages of delegation are indicated in the above case?
b. What type of organization structure does the company have?
¢. Why will managers be able to maximize their potential in the above
organization structure?
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4.

‘Work i1s Worship® is a leading construction company. The organization has grown
from strength to strength because of its innovative ideas and scientific approach to
working. Ten years back the organization went through a revolution. All the
operations and activities were properly noticed and the standard time taken to perform
them was noted. This took a few months and now the company could find out the
number of workers required and the number of days to be involved in the various
manufacturing processes. A year later they moved to another level by considering the
stress involved in the lives of the workers. The amount and frequency of rest intervals
in finishing a particular task were noted. This helped the company in optimizing the
rest intervals for the workers so that their outputs could be increased. After six more
months. the company decided to reward the efficient workers. A different rate of
wage payment was decided for those workers who performed above the standard. The
standard was decided. This led to a revolutionary change in the perspective of the
workers who now started giving their full efforts in order to increase their wages.

a. Which concept of management has been discussed in the above case?
b. Name the three types of this management concept highlighted above.

¢. Also identify the lines where these types have been indicated.

Anjana Chemicals is looking for qualified and talented people to apply for vacant jobs
in the organization. With the passage of time, the organization has learned a lot with
its experience. It knows when it goes for final selection of candidates, if will have to
design different tests. They want to test the employees on the basis of their learning
and decision-making ability. The company wants to ensure proper testing of the
recruited candidates. After this, the candidates will be judged on the basis of in-depth
formal conversation. After the selection, the candidates are placed and trained on the
equipment they will be using but this training will take place away from the
workplace.

a. Which type of recruitment should the company depend upon?

b. Which type of test should be conducted done by the organization 1o suit their
need?

¢. Which stage in the selection process is highlighted after the written test?

d. What type of training is given to the candidates?
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B.A. LL.B. (Hons) Degree Programme
Repeat (Odd-Semester) Examinations, August 2021
(for 2025 Batch)

Sociology — I (A Critical Introduction)
Time: 3 YaHours Maximum Marks: 50
PART — A (5 X 10 =50 Marks)

Answer the following questions.

1. Discuss the social Process of Competition in family with examples.

2. Analyse the evolution of Sociology, Social Anthropology and Indology in 20"
century India and explain what discourses dominated in the first half of the 20™

century.

3. Explain the process of Acculturation and Assimilation in India, with community

examples.

4. How do you understand the discourse of Sacred and Profane in Religion? Illustrate

with examples.

5. How fetishism, totemism is different from Magic? Explain with examples.
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ECONOMICS —I (Principles of Economics)

Tiume: 3 “Hours Maximum Marks: 50
PART — A (5 X 10 =50 Marks)

Answer the following questions:

1. In a simple economy, suppose that all income is either compensation of employees or
profils. Suppose also that there are no indirect taxes. Calculate gross domestic product
from the following set of numbers using the expenditure approach and the income

approach.
Particulars Amount in §
Consumption $9,500
Investment $3,000
Depreciation $1,750
Profits $2,400
Exports $850
Compensation of employees $11,500
Government purchases $3,200
Direct taxes $1,200
Saving $1,600
Imports $900

2. (A)  Suppose the number of employed people in an economy is 312545372, The
unemployment rate in this economy is 7.4 percent, or .074, and the labour force
participation rate is 80 percent, or .80.

(i) What is the size of the labour force?

(ii) How many people are unemployed?
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(iii)What is the size of the working-age population?

(B)  The CPlis 120 in year | and 150 in year 2. All inflation is anticipated. If the Bank
charges an interest rate of 30 percent in year 2, what is the bank’s real interest

rate?

3. Kristine is a fan of both romantic movies and classical concerts. This month she has $480
to spend on the two activitics. The original budget constraint is shown in the graph
below, Let X represent romantic movies and ¥ represent classical concerts.

a) What is the equation of the original budget constraint?

b) What is the price of a ticket to a romantic movie? A classical concert?

¢} Assume price change occurs and Kristine now faces the new budget constraint.
What is the equation of the new budget constraint?

d) With the new budget constraint, what is the price of a ticket to a romantic movie?
A classical concert?

Classical

concerts (¥)

40 Original budget constraint
\ /
32| N\
24
16 New hudget constraint
8

.

g y Homantic
0 8 16 24 32 40 48

movies {X)

4. Which of the following situations correspond to cyclical unemployment, structural
unemployment, frictional unemployment and exit from the labour force, and why?
a) Some of your friends just graduated from college and have been looking for jobs for
the past five weeks.
b) Christine lost her job as a biologist at a bio-tech company when the whole industry
went into recession.
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¢) Gerhard, who used to be a taxi driver, stopped looking for a job three months after he
lost his job.

d) Duk has been working as a craftsman making cotton dolls. Now all kids want plastic
dolls. and your neighbour has been out of a job for the past two years.

e) Aditi, a high-tech engineer, just decided to quit her job in a start-up in Bangalore;
she’s being interviewed for a better paid job in a multinational company.

f) A man just lost his job as a public reader as education levels have increased in his
village.

World famous Pirates” Candies are manufactured in the Pirate Town of Croatia.

Currently, the Pirate Town levies a €1 per-bag tax on all Pirates’ Candies, and the candy

shop sells 15,000 bags of candies a year at a total price of €15 per bag. The governor of

Pirate Town decided to build a 1:100 wooden model of the town and display it in the

town square, al a cost of €15,000. The governor also wants to raise the money from

additional tax revenue from sales of Pirates’ Candies. He has asked each of the three

town council members to come up with a plan to raise the additional €15,000, and their

plans are as follows:

Council member Thompson advises increasing the per-bag tax by €1, Council member
Wine house advises raising the tax by €1.50 per bag, and Council member Sandler
advises reducing the current tax by €0.25 per bag.

For each of the three council members’ plans, determine the following:
a) How many total bags of candies would need to be manufactured to increase tax
revenue by exactly €15,0007
b) What is the price elasticity of demand for Pirates’ Candies if the tax revenue

increases by exactly €15,000?

¢) How much total revenue will Pirates” Candies receive if the tax revenue increases
by exactly €15,000?
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LAW OF TORTS

Time: 3 “uHours Maximum Marks: 50
PART — A (5 X 10 =50 Marks)

Answer the following questions:

1. The employees of XYZ Municipal Corporation opened a manhole in front of its office.
In the evening, the manhole was covered by a tent and was left unattended. To warn
people passing by, paraffin lamps were placed around the tent. In the late evening,
Raki, an eight years old boy was returning home from his tuition classes. He got
curious to see what is under the tent and took one of the lamps and entered the
manhole. When he tried to get out of the manhole, the lamp slipped from his hand and
thereafter a violent explosion took place. Due to the explosion, Raki suffered severe
burn injuries. Raki’s parents sued the Municipal Corporation for damages.

In light of the above facts, determine whether the municipal corporation can be
held liable and give reasons for your decision.

2. The partners of a finm, Sani & Sani, temporarily gave their truck, along with a driver
on hire to one K.T Co. for transporting goods from one place to another. The driver
continued to be on the payroll of Sani & Sani and was subjected to their employment
rules. Due to the negligent driving of the driver, there was an accident in which a
pedestrian died. The widow of the deceased sued K. T Co. for compensation.

In light of the same, determine whether K.T. Co. can be held liable for the
negligence of the driver. Answer with the help of legal principles and case laws.
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3. Shazam Chemicals Pvt. Ltd. is a fertilizer manufacturing company having its
manufacturing units all over India. One of its units leaked chemicals into the river
flowing nearby. The river served as the source of water for a large number of
populations residing in the vicinity. This led to the poisoning of the water, causing
widespread diseases and deformities in the residents. One of the NGOs, Vatavaran
Suraksha filed petition for award of compensation to the persons who had suffered
harm due to the leakage of the chemicals from the fertilizer plant.

In light of the above facts, determine the liability of Shazam Chemicals Pvt. Ltd.

4. Mr. Raji has a beautiful flower garden with many exotic flowers. He was disturbed by
the fact that his flowers were being stolen by his neighbours. In order to prevent them
from stealing from his garden, he had placed a spring gun in the garden. Zulfi, a young
boy of eight years, entered the garden with no knowledge of the spring gun. He came
in contact with the gun and was severely injured. Zul{’s parents sued Raji for
damages.

In light of the above facts, answer the following:
a) Can Raji be held liable for Zulfi’s injuries? (5 Marks)
b) Under what heads can Zulifi’s parents claim for damages? (5 Marks)

5. Critically analyse the viability of continuing with the classification of the sovereign
and non-sovereign functions of the state in India for determining its liability for
tortious wrongs committed by its servant.
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Register No.:

TAMIL NADU NATIONAL LAW UNIVERSITY, TIRUCHIRAPPALLI

B.A. LL.B. (Hons) and B.Com. LL.B. (Hons) Degree Programme

Time:

Repeat (Even-Semester) Examinations, September 2021
(for 2025 Batch)

ENGLISH - II/ BUSINESS ENGLISH - 11

3 ¥4 Hours Maximum Marks: 50
PART — A (5 X 10 =50 Marks)

Answer the following questions (450 to 500 words)

1y

2)

3)

4)

3)

Cite the importance of critical reading in comprehending a text by considering the
strategies like predicting, previewing, anticipating, skimming and scanning.
Explain each method in reading by referring to any texts that you have studied.

Evaluate the role of linkers, connectives and other elements of parts of speech as a
linguistic devicethat help in developing an effective write-up, and show how these
elements help in sequencing the ideas and bring the quality of coherence in a
passage.

Explain the impact and role of translation act in making the regional literature to
get into the transnational literary market. How are the English translation takes a
prominent role in global literary market?

Cntically discuss the element of state power in the play Anfigorein contrast with
the individual conscience and natural understanding of law, and bring the
ideological conflicts between Antigone and Creon based on state law and god’s
law.

Critically examine the role of Nora in A Do/l’s House and Leela Benare in
Silence! The Court is in sessionand show how these characters critiqued the
gender inequality and the societal expectation.
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TAMIL NADU NATIONAL LAW UNIVERSITY, TIRUCHIRAPPALLI
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Repeat (Even-Semester) Examinations, September 2021
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SOCIOLOGY- II (Research Methods in Social Sciences)

Time: 3 ¥4 Hours Maximum Marks: 50
PART — A (5 X 10 =50 Marks)

Answer the following questions:

1. Explain the different types of Questionnaires with suitable examples in everyday
research.

2. Imagine yourself as a researcher who is entrusted to study the livelihood of
farmers of Tamil Nadu Kavery-Delta Region. Detail the Socio-Economic aspects
you will be interested to study and develop a Research framework accordingly.

3. Develop an Interview schedule to study India’s Annual Transgender festival at
Koovagam, Villupuram, Tamil Nadu.

4. Explain different types of Non-Random Probability Sampling with suitable
examples in different social contexts/situations.

5. Suppose you are given an opportunity to work in a Juvenile Home, how will you
apply Projective Technique to study the social conditions of an inmate? Provide a
detailed description with examples.
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POLS2-21

Name: [ ]

Register No.:

TAMIL NADU NATIONAL LAW UNIVERSITY, TIRUCHIRAPPAILILI

B.A. LL.B. (Hons) Degree Programme

Repeat (Even-Semester) Examinations, September 2021
(for 2025 Batch)

POLITICAL SCIENCE — II (Political Obligation)

Time: 3 ¥4 Hours Maximum Marks: 50

PART — A (5 X 10 =50 Marks)

Answer the Following Questions. Each Answer should not be less than 400 Words,

1.

The culture to question and to criticize is a part of the Indianness. This is being
fully reflected from our ancient scriptures to the works of present-day Indian
scholars. But repressive measures are being initiated by the governments at present
with the new norms and sanctions against those who oppose them. In such a
context explain what would be the important political obligation of people as
citizens of India.

“Since the Stale is regarded as representing and containing within itself all the
individual’s social aspirations, and at the same time fulfilling all his social needs,
whatever claims the State may make upon the individual are held to be based upon
absolute authority.”- Critically analyse the statement.

“Marxian theory sanctions the case of political non-obligation in the pre-
revolutionary stage, total political obligation in the revolutionary stage and its
eventual conversion into social obligation in the post-revolutionary stage of social
development.”- Critically analyze the statement.

Analyse the ideas expressed by Prof. Upendra Baxi on how the twilight of the
legitimacy of the law-making institutions is contributing to the crisis of
Legitimation of Law in India.

“Lesser the use of violence greater is the legitimacy of the State.” — taking clue
from this statement analyse the idea as to during which period of Independent
India more legitimacy could be imparted to the Indian State and what are the
factors that contributed to this position.
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Name: [ j

Register No.:

TAMIL NADU NATIONAL LAW UNIVERSITY, TIRUCHIRAPPALLI
B.Com. LI.B. (Hons) Degree Programme

Repeat (Even-Semester) Examinations, September 2021
(for 2025 Batch)
BUSINESS ECONOMICS
Time: 3 ¥4 Hours Maximum Marks: S0
PART — A (5 X 10 =50 Marks)
Answer the Following Questions.

1. For this problem, assume that Kendrick has $144to spend on cigars and brandy each
month and thatboth goods must be purchased whole (no fractionalunits). Cigars cost $6
each, and brandy costs $30 perbottle. Kendrick’s preferences for cigars and brandy
aresummarized by the following information:

Cigars Brandy
No. per Month TU MU | MU/S | Bottles per Month TU MU | MU/S
1 28 - - 1 150 - -
2 46 - - 2 270 - -
3 62 = = 3 360 - -
4 74 - - 4 420 - -
5 80 - - 3 450 - -
6 84 3 & 6 470 - -
7 86 = = 7 480 - -

a. Fill in the figures for marginal utility and marginal utilityper dollar for both cigars
and brandy.

b. Are these preferences consistent with the law of diminishingmarginal utility? Explain
briefly.

c. Given the budget of $144, what quantity of cigars andwhat quantity of brandy will
maximize Kendrick’s levelof satisfaction? Explain briefly.

d. Now suppose the price of cigars rises to $8. Which ofthe columns in the table must be
recalculated? Do therequired recalculations.
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2. A firm can use three different production technologies,with capital and labor

requirements at cach level of outputas follows:

Technology 1 Technology 2 Technology 3
Daily Quiput K L K L K I
0o 4 6 2 8 5 3
150 5 9 3 10 7 5
200 6 i2 5 14 8 3
250 7 15 6 18 10 12

a. Suppose the firm is operating
unit per day and labor costis $100 per worker per day. For each level of output,
whichtechnology is cheapest?

in a high-wage country,where capital cost is $150 per

b. Now suppose the firm is operating in a low-wage country,where capital cost is $150
per unit per day but labor cost isonly $60 per unit per day. For each level of output,
whichtechnology is cheapest?

c. Suppose the firm moves from a low-wage to a high-wagecountry but its level of
output remains constant at 100units per day. How will its total employment change?

3. A firm’s costs are given in the following table.

q TC | TFC | TvC | AVC | ATC | MC
0 $50 - - - - -
1 70 - - - - -
2 80 - - - - -
3 90 - - - - -
4 110 - - - - -
5 140 - - - - -
6 175 - - - - -
7 220 - - - - -
8 280 - - - - -
9 360 - - - - -
10 450 - - - - -

a. Complete the table.

b. Graph AVC, ATC, and MC on the saime graph. What isthe relationship between MC
and ATC and between MCand AVC?
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€. Suppose market price is $20. How much will thefirm produce in the short run? How
much aretotal profits?

d. Suppose market price is $60. How much will the firmproduce in the short run? What
are total profits?

The diagram below shows a firm (industry} that earns anormal return to capital if
organized competitively. Pricein the market place is P. under competition. We assume
atfirst that marginal cost is fixed at $250 per unit of outputand that there are no
economies or diseconomies of scale.

[The equation of the demand curve facing the industry isP = 500 - 1/20 Q].

Calculate the total revenue to the competitive firms, assuming free entry. What is tofal
cost undercompetition? Calculate consumer surplus under competition.

Now assume that you bought all the firms in this industry, combining them into a single-
firm monopoly protected from entry by a patent. Calculate the profit maximizing price,
Pm, total revenue from the monopoly, total cost, profit, and consumer surplus. Also
compare the competitive and monopoly outcomes. Calculate the deadweight loss from
monopoly. What potential remedies are available?

F 3
500 |
Dollars ($) i\
375 -\,
; AN
PC = MRC : ™ MC
= 250 : ! \D =S

2500 &000 10000

MR,
Units of output, Q

a. Ms. Asha makes custom bird houses in her garage and she buys all her supplies
froma local lumber yard. Last year she purchased $3,500 worth of supplies and
produced 250 bird houses. She sold all 250 bird houses to a local craft store for $25
each. The craft store sold all the bird houses to customers for $55 each. For the totai
bird house production, calculate the value added of Ashaand of the craft store.
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Define inflation. Assume that you live in a simple economy in which only three
goods are produced and traded:cashews, pecans, and almonds. Suppose that on
Januaryl, 2015, cashews sold for $12.50 per pound, pecans were$4.00 per pound,
and almonds were $5.50 per pound. At the end of the year, you discover that the
cashew crop was lower than expected and that cashew prices had increased to
$17.00 per pound, but pecan prices stayed at $4.00 and almond prices had actually
fallen to $3.00. Can you say what happened to the overall “price level™? How might
you construct a measure of the “change in the price level”? What additional

‘information might you need to construct your measure?
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Name: [ ]

Register No.:

TAMIL NADU NATIONAL LAW UNIVERSITY, TIRUCHIRAPPALLI

B.A. LL.B. (Hons) Degree Programme

Repeat (Even-Semester) Examinations, September 2021
(for 2025 Batch)

HISTORY - I (Indian History)

Time: 3 ¥ Hours Maximum Marks: 50

PART — A (5 X 8 =40 Marks)

Answer the Following Questions.

I,

“Science is finding things out; and in that sense history is a science.” R. G.
Collingwood. Critically examine this statement and explain whether you agree or
not with reasons.

“Just as from the infinite ocean of facts the historian selects those which are
significant for his purpose, so from the multiplicity of sequences of cause and effect
he extracts those, and only those, which are historically significant; and the standard
of historical significance is his ability to fit them into his pattern of rational
explanation and interpretation.” E.H. Carr. In the light of this statement comment
on objectivity in history.

Analyse the nature of Early Medieval Indian society and economy. You can use the
example of any one of the South Indian kingdoms to substantiate your answer.

Was the Bhakti movement, a reform, a dissent or a protest movement? Respond
with reasons and illustrations.

Analyse the nature of the colonization by the East India Company. Was there any
changes 1in the policies of the East India Company or the British Government over
time? If there were any changes, what were the reasons?
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6. Comment in your own words on the following in no more than 100 words:

a)
b)
¢)
d)
e)

PART B - (5x 2 = 10 Marks)

Nature of the Vedic society and economy.

Ashoka’s policy was the reason for the downfall of the Mauryas.
The idea of the Gupta age being a golden age is a myth.

Ahimsa as a policy was founded by Jainism.

Akbar was a secular ruler.
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Name: [ ]

Register No.:

TAMIL NADU NATIONAL LAW UNIVERSITY, TIRUCHIRAPPALLI

B.Com. LL.B. (Hons) Degree Programme

Repeat (Even-Semester) Examinations, September 2021
(For 2025 Batch)

MARKETING MANAGEMENT
Time: 3 ¥4 Hours Maximum Marks: 50

PART — A (5 X 10 =50 Marks)
Answer the Following Questions.

1. *Markeling may be defined as the delivery of a standard of living. The size of
marketing task continually becomes greater as standard of living rises.” Elucidate

this statement.

2. Examine the Branding strategy of Amul and Nestle India
3. Analyse the Marketing Mix of any one of the public sector banks in India.

4. You are marketing manager of a medium sized manufacturing company. The CEO
has just made the following statement "The distribution of goods is not a concern
of the marketing department. The function of the marketing department is to sell
the product ... let be rest of the company handle production and distribution.”

What would be your comment?

5. Compare the market segmentation strategy of Hindustan Unilever and Patanjali
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Register No.:
TAMIL NADU NATIONAL LLAW UNIVERSITY, TIRUCHIRAPPALLI
B.A. LL.B. (Hons) and B.Com. LL.B. (Hons) Degree Programme

Repeat (Even-Semester) Examinations, September 2021
(for 2025 Batch)

LAV OF CONTRACTS -1

Time: 3 ¥4 Hours Maximum Marks: 50
PART — A (5 X 10 =50 Marks)

Answer the following questions:

1. The following correspondence took place between Ramesh and Sonal.
Ramesh to Sonal: 1 offer 500 tins of oil at Rs.43/- per tin
Sonal to Ramesh: I accept at Rs.33/- per tin
Ramesh to Sonal: Send the amount in advance.
Sonal did not remit the amount and did not reply.

Ramesh approached you to send a legal notice to Sonal. Advice Ramesh.

2. Rahul, al4 year old boy, misrepresented himself as a major and bought a toy car from
Rajaram’s shop for Rs. 5000/-. Rajaram knows Rahul and his family well. Rahul did
not make payment. After a reasonable time, Rajaram sued Rahul for the damages.
Decide.

3.  Madhav is the uncle of Ganesh. Madhav was about to buy the car owned by Ganesh.
The car had engine complaints which was not repaired by Ganesh. Madhav checked
with Ganesh whether the car was in good condition. Upon the assurance given by
Ganesh, Madhav bought the car.

On the third day after the sale, Madhav found that the car had engine complaints and
he approached Ganesh asking him to return the money. Ganesh refused to return the
money saying that Madhav must have taken enough care before purchasing the car.
Madhav needs legal advice from you. Advice.
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Rahmanis regularly supplying packed bakery products toBest Star Restaurant. On 29
May 2021 Best Star Restaurant made an order for certain products. On 28™ May
2021, the Rahman sold his business to a company named Hot Snacks & Co.

Hot Snacks & Co. accepted the order fromBest Star Restaurant and supplied the
packed bakery products on time. Thereupon Best Star Restaurant refused to pay Hot
Snacks& Co. stating that they intended to enter inio a contract only with Rahman
since they are having a set off against him.Representatives of Hot Snacks sued Best
Star Restaurant for defaulted payment. Decide.

Cluster Firecrackers is a company manufactures firecrackers for festival seasons. The
Company’s production unit is in Kolkata. They got a bulk order from Chennai for the
sale in Diwali season. Cluster Firecrackers sent the crackers by railway. The railway
was negligent and delivered the parcel too late for the season. Cluster Firecrackers
company filed a suit for loss of profits. Decide
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FAMILY LAW -1

Time: 3 ¥4 Hours Maximum Marks: 50
PART - A (5 X 10 =50 Marks)

Answer the following questions with relevant legal provision and judicial
pronouncements

1. Mr. X (Hindu) plans to marry Ms. Y (Hindu), knowing the fact that she is suffering
from mental illness which makes her not competent to be aware of her decisions and
situations. Ms. Y gives her consent for marriage with Mr. X. Comment on the legality
of marriage when they register under Special Marriage Act, 1954 and when they

register under Hindu Marriage Act, 1955.

2. Mr. and Mrs. K were married under the Christian Laws in India. After few months of
marriage, Mrs. K was informed of the fact that, at the time of marriage,Mr. K was
impotent. The fact of impotency was known to Mr. K during the time of marriage
itself, but it was concealed from Mrs. K.

Due the above reason, Mrs. K claims that the marriage is void because there was
a concealment of fact aboul Mr. K's impotency. Mrs. K secks the advice of her

advocate for nullity of her marriage. As an advocate, advice Mrs. K.

3. Compare and critically comment on the laws of adoption in Hindu Personal Law and
Juvenile Justice Act with specific reference-to the conditions under “who may take in

adoption”.

Page 1 of 2



4. Mrs. Q is a divorced Muslim woman (following Shia Law), who has a daughter aged
3 years. Critically comment on the Right of Hizanat after her divorce. What happens

to the right of Hizanat if she remarries?

5. “Plurality of marriage is not an wunconditional right conferred upon the
husband ”Analyse the above statement in the light of laws relating to bigamy under
thefamily Laws in India.
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